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Subtract:

 428 – 176

Answer: _______________

M
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91

APPENDIX B

Example Restricted Use Items
Grade 4 Mathematics

M
05

11
40

Charlie is 24 years old.

He is F years older than Jenny. 

Which of the following represents Jenny’s age?

a 24 – F

b F + 24

c F – 24

d 24 × F
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number in Column A by 4, then add 1.  

Column A Column B

2

5

M
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M
04

12
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Which rectangle is 
 
shaded?

a  b 

c  d  
Copyrig

ht 

pro
tected by IE

A.

 

This i
tem m

ay not b
e use

d  

with
out e

xpress 

perm
iss

ion fro
m IE

A.



TIMSS & PIRLS

Lynch School of Education

International Study Center

	 TIMSS 2019 ASSESSMENT FRAMEWORKS:	
	 EXAMPLE RESTRICTED USE ITEMS	 107

M
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Find the perimeter of the shape.

a 28 cm

b 32 cm

c 36 cm

d 40 cm

4 cm
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M
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a 4.5 square centimeters

b 6    square centimeters

c 9    square centimeters

d 9.5 square centimeters
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Between which ages did Peter’s height increase most?

a 10 and 11

b 11 and 12

c 12 and 13

d 13 and 14

100

150

140

130

120

110

160

10 11 12 13 14
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91

H
ei
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t (

cm
)

Peter’s Age (years)

Peter’s Height on his Birthday 
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M
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20 students read a book. How many met with friends?

a 40

b 60

c 80

d 100

Read a Book

Played Games

Met with Friends

Helped at Home

After-School Activities
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Write this as a decimal number.

Answer: _______________

M
04

20
81

ABCD is a rectangle. What is the value of x?

a 25

b 45

c 65

d 75

 D C

M
04

22
03

25°

x°

 A B

Grade 8 Mathematics
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Write in the missing term in this sequence:

1, 1, 2, 3, 5, 8, 13, _____ , 34, 55.

M
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M
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In John’s house there are stools stacked together.

One stool is 49 cm high. 

When 2 stools are stacked the stools are 55 cm high.

How high above the ground is the top of a stack of 6 stools?

a 79 cm

b 85 cm

c 110 cm

d 165 cm
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Peter and Tom went to the same shop to buy some books and pens. 

Peter bought 5 books and 2 pens and paid 74 zeds.

Tom bought 1 pen and 3 books and paid 42 zeds.

Which pair of equations could represent this situation?

a 5x + 2x = 74

 y + 3y = 42

b 5x + 2y = 74

 x + 3y = 42

c 5x + 2y = 74

 3x + y = 42

d 5y + 2y = 74

 3x + y = 42
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A cube had 27 small, gray cubes. First, the small cube at the center of each face 

a 4

b 16

c 20

d 24

M
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Estimate the temperature at 9:30 a.m.

Answer: ____________°C

Morning Temperature in Zed City

23

22

21

20

19

18

17

16
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)

Time

7 a.m. 8 a.m. 9 a.m. 10 a.m. 11 a.m.
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of 2004, and said, “In March, I sold four times as many books as I sold in 
February.” 

Explain whether you agree or disagree with the salesman, and give a reason.

950

940

930

920

910

900
Jan Feb Mar Apr May Jun

Months

N
um

b
er

 o
f B

oo
ks

Books Sold
M

04
21

64
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Grade 4 Science

What is a function of the part of the plant labeled X?

a to make food

b to transport food   

c to produce seeds  

d to absorb water  

S0
41

22
3

X
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She has four pots containing the same type of soil. She puts plants in each pot 
and adds fertilizer to two of the pots as shown below. 

Pot 1 Pot 2 Pot 3 Pot 4

Fertilizer Fertilizer No fertilizer No fertilizer

growth of plants?

Pot ______________ and Pot ______________.

Explain your answer. 
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Figure 1 shows some puddles of water on a concrete sidewalk in the morning. 

What happened to the water?

a It went into the air. 

b It turned to dust.

c It was used by trees.

d It spilled into the road.

morning

Figure 1

afternoon

Figure 2

Which material is the best conductor of heat?

a wood

b metal 

c glass

d plastic
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Mike took four items from his kitchen and tested them to see whether they 
dissolved in water. He also touched them to see how hard they were.  
He wrote his results in a table, as shown below.

Hard
Dissolves in water Sugar cube Honey
Does not dissolve in water Metal spoon Sponge

Mike found four more items, as shown below. 

Which item is in the same group as the sponge?

a jelly 

b rock salt 

c rubber ball

d glass bottle

jelly rock salt rubber ball glass bottle
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Explain why the shadows changed.

 9 a.m. 12 noon 5 p.m.
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a mountains rivers oceans

b oceans mountains rivers

c rivers oceans mountains

d mountains oceans rivers
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Grade 8 Science
S0

42
00

5

Look at the list of organisms.    

   ant    frog    spider    earthworm    bird  whale

Classify the organisms into two groups based on a physical or behavioral 
characteristic. 

Group 1 Group 2

Write down the characteristic you used to classify the organisms.
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Most plants have roots that grow in the topsoil, but some have roots that 
reach into the subsoil. 

Write two advantages for a plant to have long roots that go down into the 
subsoil.

1.

2.

bedrock

slightly weathered rock

subsoil

topsoil
organic layer
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seedssoil water fertilizerpots
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S0
52
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State at Room 
Temperature (20°C) Melting Point (°C) Boiling Point (°C)

Water Liquid  0  100

Mercury Liquid  –39  357

Iron Solid  1,530  2,450

What is the state (solid, liquid, or gas) of water, of mercury, and of iron at 350°C? 

Water: ______________

Mercury: ______________

Iron: ______________

S0
52
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Which is an example of a chemical process that releases energy? 

a water boiling

b raw egg cooking

c oil lamp glowing

d white sugar dissolving
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Two beakers, one containing hydrochloric acid and the other containing sodium 
hydroxide exactly balance a weight, as shown in the diagram.

on the balance.

Look at the diagrams below.

(Check one box.)

C Diagram A

C Diagram B

C Diagram C

Explain your answer.

Diagram A Diagram B Diagram C
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A student is reading a book. 

Which diagram shows the direction in which light travels so that she can read 
the book? 

a  b

c  d
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A toy car moves in a straight line. A graph of the car’s distance from the 
starting point over 18 seconds is shown below.

Which of the following best describes the motion of the toy car during each 

Segment
1 2 3 4 5

a
moving 
forward

not 
moving

moving 
forward

not 
moving

moving 
backward

b
not 

moving
moving 

backward
not 

moving
moving 

backward
moving 
forward

c
moving 
forward

not 
moving

moving 
backward

not 
moving

moving 
backward

d
moving 

backward
not 

moving
moving 

backward
not 

moving
moving 
forward

10

5

0
6 12 18

5

4

3

2

1D
is

ta
nc

e 
(m

)

Time (s)
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S0
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then bounces straight up again.

A. What force causes the ball to fall from point X to point Y?

B. When the ball bounces up again, will it bounce higher than, lower than, or to 
the same height as point X?

 (Check one box.)

 C Higher than point X

 C Lower than point X

 C Same height as point X

 Explain your answer.

X

Y
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Which diagram below can be used to explain the changing seasons during 
the year for most places north or south of the equator? In the diagrams, S is 
the Sun, E is the Earth, and M is the Moon.

a

b

c

d

E

E

S

S

M

E

E
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